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1.Which of the following is NOT a key frustration of the business integration environment?  

A. Reliance on multiple integration tools.  

B. Integration capability based on older technology.  

C. Integration tools do not handle EDI/B2B/SOA.  

D. Integration tools do not provide visibility across the supply chain.  

Answer: D 

 

2.Which of the following cannot be adjusted using the Performance Tuning wizard.?  

A. Number of available CPU's.  

B. Allocated physical memory.  

C. Database pool connections.  

D. Priority levels of work queues.  

E. JVM memory and system cache settings.  

Answer: D 

 

3.Which of the following is NOT a key business benefits of deploying Sterling B2B Integrator?  

A. Reduced administration costs.  

B. Enable more of your trading partners.  

C. Reduced man-power required.  

D. Integrated security management.  

Answer: D 

 

4.Which of the following is NOT an approach typically used for enabling smaller trading partners?  

A. SMTP e-mail with attachments.  

B. Web extensions to create custom web portals for data entry by small partners.  

C. Fully automated EDI.  

D. None of the above.  

Answer: C 

 

5.What is the function of the perimeter server?  

A. Enables business processes to be scheduled.  

B. Provides a session break for communications in the De-Militarized Zone (DMZ).  

C. Stores common "state" data which can be accessed by all nodes in the cluster.  

D. All of the above.  

Answer: B 

 

 


